Efficiency vs P,

+0.02
o

9.018F
Pl -
.016F
o E
D.014F
) o
0.012F

VX0 STRTPRIRN IR e o
0.008f -+ p=-vieeeeeesees Feeeeeeeeen e
0,006 -++-+eseiseeereence Rt e

0.004
0.002

- :
|

1.0

Ratio

PETTTT BT ITY BT TTTT B R T

+

T T T
4
_:.Q_

. ... e

o
©
a

=
S
3
.
.
o
-+
e}
;
.
o
2.
=)
w

—=— DQM_CKF_softQCD
—e— DQM_mkFit_SoftQCD-updated
—— DQM_mkFit_SoftQCD-DNNsqcd100

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015

0.0

0.005

Ratio
=
TTT T[T T T T TILTTTT

Efficiency vs ¢

=0.02




	Contents
	Page 1


